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HBSU Questions: 100

Time: 90 mins

Instructions:
1) This mock test paper is a sample paper for students to practice and have an understanding of the format of
HBSUCET. All students are advised to go through the syllabus for detailed coverage of topics for HBSUCET to

prepare for the exam.

2) The test will be conducted online as mentioned on the website.

Section 1 — English Language and Verbal Reasoning (40 questions)

Directions (Q.1 — Q.2): Each question consist of two words which have a certain relationship to each other
followed by four pairs of related words, Select the pair which has the same relationship.
1. SEDATIVE : SLEEP

(1) challenging: knowledge

(2) mnemonic: memory

(3) vocal : eloguence

(4) dramatic: story

Ans. Option (2) is correct

2. JEOPARDY : PERIL
(1) Jealousy : Envy
(2) Jealousy : Lust
(3) Jealousy : Secure
(4) Jealousy : Romance
Ans. Option (1) is correct

Directions (Q.3 —Q.4): In each of the following questions, a word has been used in sentences in four different
ways. Choose the option corresponding to the sentence in which the usage of the word is INCORRECT or
INAPPROPRIATE.
3. Agog

(1) The boys were all agog to see their parents.

(2) She was all agog at the surprise announcement.

(3) The victory set the whole state agog with excitement.

(4) All are correct

Ans. Option (4) is correct

4. Tantamount
(1) To leave a pet home alone is tantamount to cruelty.
(2) Overlooking state norms tantamounts to a crime.
(3) His refusal to answer was tantamount to an admission of guilt.
(4) All are correct
Ans. Option (2) is correct

Directions (Q.5 — Q.6): In the question given below two statements are given which are grammatically correct
and meaningful. Connect them by choosing the word given below the statements in the best possible way without
changing the intended meaning. Choose the best possible word as your answer accordingly from the options to
form a correct, coherent sentence.
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5. () Especially in their own languages because it ensures a better understanding of subjects
(1) Of the important themes are to ensure that students have ready access to the right learning material
(1) each
(2) someone
(3) some
(4) one
Ans. Option (3) is correct

6. (1) The unemployment rate has dropped sharply this quarter.
(1) It may only be temporary.
(1) But
(2) Likewise
(3) Though
(4) Still
Ans. Option (3) is correct

Directions (Q.7 — Q.8): In the question given below few sentences are given which are grammatically correct
and meaningful. Connect them by the word given before the statements in the best possible way without
changing the intended meaning. Choose your answer accordingly from the options to form a correct, coherent
sentence.
7. "But"
(I) Doordarshan is also a great window to the global market place. Goods and services are continuously
being sold through Doordarshan's dream world.
(1) All news is elite centered; but Doordarshan telecast is usually more ethnocentric. Its accent is on
people, places and events.
(1) With over 1 billion people talking in several languages and a variety of lifestyles to boot, it is obvious
one cannot address all of them together all the time.
(1V) Doordarshan's promotions must go beyond mere reportage of facts, and capture the story between

the lines.
@ -1
@ n-1v
3) H-1v
@1-n

Ans. Option (4) is correct

8. "Because"
(1) Itis ironic, not tragic, that minorities in our country have come to be identified with religion and not
with community or profession.
(1) The establishment of many such organizations are testimony to the growing antagonism to secularism.
(1) Secularism today is being taken as a threat to religious identities, to the existence of religious
diversities, though secularism was never conceived as such.
(IV) This is the reason that secularism today has come to mean as preservation of religious minorities in
their traditional modes.

@ n-i
) 1- IV
(3) -1V
@) 1-1

Ans. Option (3) is correct
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9. Kindly choose the appropriate word for connecting the following sentences.
(I) The milkman in my neighbourhood likes to talk to his customers.
(1) He provides them milk in every morning.
(1) even if
(2) in addition
(3) rightly
(4) while
Ans. Option (4) is correct

Direction (Q.10 — Q.11): Complete the following sentences.
10. Naveen is so lazy that he .......
(1) cannot depend on others for getting his work done
(2) cannot delay the schedule of completing the work
(3) can seldom complete his work on time
(4) dislike to postpone the work that he undertakes to do
Ans. Option (3) is correct

11. "You are thinking very highly about Prashant but he is not so™ means
(1) You have a good opinion about Prashant but he is not as good as you think
(2) Prashant is much better, than what you think of him
(3) Your view about Prashant is philosophical, keep it up
(4) Prashant is as good as you think about him
Ans. Option (1) is correct

Direction (Q.12 — Q.13): Find the erroneous part of the given sentence
12. The war of Mahabharata (a) / is the full length illustration (b) / of a righteous war (c) / No error
(1) The war of Mahabharata
(2) is the full length illustration
(3) of arighteous war
(4) No error
Ans. Option (2) is correct

13. To perform this experiment (a) / drop little sugar (b) / into a glass of water(c) / No error (d)
(1) To perform this experiment
(2) drop little sugar
(3) into a glass of water
(4) No error
Ans. Option (2) is correct

Directions (Q.14 — Q.15): Read the following comprehension carefully and answer the questions accordingly.
One spring, while visiting in the little village among the High Mountains where her ancestors had dwelt for
my Aunt kindled the callow fancy of my uncle, Howard Carpenter, then an idle, shiftless boy of twenty-one.
14. Which word, if inserted in the blank, makes the most sense in the context of the passage?

(1) days

(2) seasons

(3) infinity

(4) generations

Ans. Option (4) is correct
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15. What is the meaning of the word shiftless as it is used in the passage?
(1) amiable
(2) ruthless
(3) lazy
(4) carefree
Ans. Option (3) is correct

Directions (Q.56 — Q.57): Read the following comprehension carefully and answer the questions accordingly.
Mahatma Gandhi believed that industrialisation was no answer to the problems that plague the mass of India's
poor and that villagers should be taught to be self-sufficient in food, weave their own cloth from cotton and
eschew the glittering prizes that the 20th century so temptingly offers. Such an idyllic and rural paradise did not
appear to those who inherited the reins of political power.
16. The meaning of 'glittering prizes that the 20th century so temptingly offers' is

(1) pursuit of a commercialised material culture

(2) replacement of rural by urban interests

(3) complete removal of poverty

(4) absence of violence and corruption

Ans. Option (1) is correct

17. The basis of 'an idyllic and rural paradise' is
(1) rapid industrialisation of villages
(2) self-sufficiency in food clothes and simplicity of the lifestyle
(3) bringing to the villages the glittering prizes of the 20 th century
(4) supporting those holdings powerful political positions
Ans. Option (2) is correct

18. If you ask me to give you a rough estimate for the cost of the project, | would say
thirty lakhs.
(1) off-the-mark
(2) off-the-grid
(3) off-the-cuff
(4) off-the-mike
Ans. Option (3) is correct

19. The nasty comments made by strangers on the social media platforms about the actor made him

(1) ill at heart

(2) ill and ache

(3) illin heart

(4) ill at ease

Ans. Option (4) is correct

20. The new car has disappointed its buyers in many ways, and good mileage is its only
(1) saving grace
(2) saving face
(3) saving praise
(4) saving case
Ans. Option (1) is correct
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21. Meena is very arrogant and class-conscious; she refuses to acknowledge Sunil because she feels he is a
man
(1) of no importance
(2) of great importance
(3) of less importance
(4) of some importance
Ans. Option (1) is correct

22. Some big shots know how to escape the law even after they violate it. It is, however, the
who are more often apprehended and punished.

(1) small fry

(2) tiny shots

(3) tiny fish

(4) small fish

Ans. Option (1) is correct

23. A few brands tailor their pants in such a way that it is easy for people with prosthetic legs to put them on.
This is how they
(1) go to the extra level
(2) go to the extreme level
(3) go the extra mile
(4) go the entire mile
Ans. Option (3) is correct

24. 1t grieved me my friend’s serious illness.
(1) to hear regarding
(2) hearing regarding
(3) in hearing
(4) to hear of
Ans. Option (4) is correct

25. My aunt Seema was the most generous of all the members of our family. Whenever we went out for
dinner, she always insisted to pay for the meal.
(1) that she will be paying for the meal.
(2) that she pay for the meal.
(3) that she had paid for the meal.
(4) on and paid for the meal.
Ans. Option (2) is correct

26. Listening to the recording of cricket commentary from the past can be great fun. Especially, the last few
overs, when the best players are gone, and the tailenders try their best to run between the wickets without
getting out. This is when you realise that nothing much has changed, hasn’t it?

(1) nothing much has changed, hasn’t it?
(2) nothing much has changed, would it?
(3) nothing much is changed, isn’t it?

(4) nothing much has changed, has it?
Ans. Option (4) is correct
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27. When you play the ‘Secret Santa’, you are expected to buy a gift for whoever you are assigned, without
letting them know that you are the one buying the gift.
(1) whomever you are assigned
(2) who you are assigned
(3) whoever you are assigned
(4) whom you are assigned
Ans. Option (3) is correct

28. Justin couldn’t understand why his friend had refused to work in a company that offered him a huge
salary. If it had been him in his friend’s place, he would definitely accepted such an offer.
(1) have definitely have accepted such an offer.
(2) definitely accepted such an offer.
(3) have definitely accepted such an offer.
(4) have definitely accept such an offer.
Ans. Option (1) is correct

29. The setting of a story effects the storys plot.
(1) affect the story’s plot.
(2) effects the stories’ plot.
(3) affects the story’s plot.
(4) affects the story plots.
Ans. Option (3) is correct

30. . Conflicts are now brewing over rivers and river basins shared by many
countries around the world. This is not unexpected, given the fact that more than two hundred water bodies
are shared by two or more countries. Strife over water, for example, is erupting throughout the Middle
East, from the watersheds of the Nile to the Tigris and Euphrates Rivers.

(1) With water becoming increasingly scarce and development of new sources of water extremely costly,
international water tensions are expected to rise

(2) It might be a cliche, but given how scarce it is, water is the new oil of the 21st century

(3) Fresh water is increasingly in short supply, with nearly two-thirds of the global population living in
waterstressed conditions

(4) The world does not consider water to be the scarce resource it is
Ans. Option (1) is correct

Directions (Q.31-Q.37): Read the following passage carefully and answer the questions that follow. Man’s growth
from barbarism into civilization is supposed to be the theme of history. But sometimes, looking at great stretches
of history, it is difficult to believe that we are very much civilized or advanced. There is enough of want of co-
operation today as we see one country or people selfishly exploiting another. Man in many ways has not made
very great progress from other animals. Still, we look down upon the insects as almost the lowest of living things
and yet the tiny bees and ants have learnt the art of co-operation and of sacrifice for the common good far better
than man. If mutual co- operation and sacrifice for the good of society are the test of civilization, we may say that
the bees and ants are superior to man. The old saying goes as follows: “For the family, sacrifice the individual,
for the community, the family, for the country, the community, and for the soul, the whole world.” It teaches us
the lesson of co-operation and sacrifice for the larger good which we may have forgotten. How wonderful it is to
see men and women, and boys and girls smilingly going ahead on the path of progress without caring any pain
or suffering? Well, may they smile and be glad for the joy of serving a great cause which is theirs; and for those
who are fortunate, comes the joy of sacrifice too.
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31. How can we be truly civilized?
(1) by getting more wealth
(2) by getting more power
(3) by getting higher education
(4) by developing qualities of mutual help
Ans. Option (4) is correct

32. Animals are superior to men because of their
(1) Physical strength
(2) great instinct for co-operation
(3) rude and blind behavior
(4) carefree life
Ans. Option (2) is correct

33. What is the theme of above passage?
(1) The Rise and Fall of Empires
(2) Man’s search for Truth
(3) Man’s Moral and Spiritual Development
(4) Man’s quest for Idealism
Ans. Option (3) is correct

34. What is the basic reason of exploitation of one man by another?
(1) Moral Turpitude
(2) Lack of Education
(3) High Ethics
(4) Weakness of some people
Ans. Option (4) is correct

35. Pick out the correct sentence in indirect narration of the following sentence: He said, “How wise I am?”
(1) He exclaimed that I was very wise.
(2) He exclaimed that he was very wise
(3) He exclaimed that | am very wise
(4) He regretted that he was very wise.
Ans. Option (2) is correct

36. Pick out the antonym of the word ‘dissimulate’
(1) concrete
(2) circulate
(3) concealed
(4) Reveal
Ans. Option (4) is correct

37. Pick out the correct sentence from the following sentences
(1) He didn’t liked to attend the lecture
(2) He hadn’t like to attend the lecture
(3) He haven’t liked to attend the lecture
(4) He didn’t like to attend the lecture
Ans. Option (4) is correct
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Directions (Q.38 — Q.40): In questions given below, out of the four alternatives, choose the one which can best
substitute the given sentence.

38. Someone who is willing to take risks or to do something shocking
(1) Bodacious
(2) Risk-taker
(3) Audacious
(4) Bold
Ans. Option (3) is correct

39. To use special chemicals, smoke or gas to destroy the harmful insects or bacteria in a place
(1) Spray
(2) Fumigate
(3) Decontaminate - neutralize or remove dangerous substances
(4) All of the above
Ans. Option (2) is correct

40. It's a state in which a person has apprehensions all the time about their well-being and considers that
they are ill.
(1) Hypoallergenic
(2) Hypochondriac
(3) Hypochondria
(4) All of the above
Ans. Option (2) is correct
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Section 2 — Quantitative Ability (25 questions)

1) What is the value of 5! (5 factorial)?
A) 120
B) 24
C) 720
D) 60
Answer: A) 120

2) If a square has an area of 36 cm?, what is the length of its diagonal?
A) 6cm
B) 8.cm
C)12cm
D) 10 cm
Answer: C) 12 cm

3) What is the value of 22 + 32?
A) 4
B)9
C) 13
D)5
Answer: C) 13

4) If 2x - 5 =7, what is the value of x?
A) 6
B) 4
)7
D)3
Answer: A) 6

5) What is the value of 44?
A) 256
B) 64
C) 16
D) 1024
Answer: A) 256

6) If the perimeter of a rectangle is 20 cm and its length is 6 cm, what is its width?
A) 4 cm
B)5cm
C)6cm
D) 3cm
Answer: D) 3cm
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7) What is the value of (2 + 3)??
A) 25
B) 10
C)13
D) 20
Answer: A) 25

8) If 3x + 2 =11, what is the value of x?
A)3
B) 4
C)5
D)2
Answer: C) 3

9) What is the area of a circle with radius 5 cm?
A) 251 cm?
B) 107t cm?
C) 20 cm?
D) 15n cm?
Answer: A) 251 cm?

10) If a triangle has sides of lengths 3 cm, 4 cm, and 5 cm, what type of triangle is it?
A) Scalene
B) Isosceles
C) Equilateral
D) Right-angled
Answer: D) Right-angled

11) What is the value of logs25?
Al
B) 2
C)3
D)5
Answer: B) 2

12) If a circle has a radius of 12 cm, what is its circumference?
A) 72m cm
B) 247 cm
C) 48n cm
D) 36m cm
Answer: C) 2471 cm
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13) What is the value of 7!/ 41?
A) 210
B) 420
C) 105
D) 5040
Answer: C) 105

14) If 4x - 3 =13, what is the value of x?
A) 4
B)5
C)6
D)7
Answer: B) 4

15) What is the value of 92 + 62?
A) 117
B) 81
C) 117
D) 90
Answer: A) 117

16) What is the average of the first five multiples of 12?
A.36

B. 38

C. 40

D.42

Answer: A) 36

17) What is the difference in the place value of 5 in the numeral 7548537

A 49500
B. 49950
C. 45000
D. 49940

Answer: B) 49950

18) What is the compound interest on Rs. 2500 for 2 years at rate of interest 4% per annum?

A. Rs. 180
B. Rs. 204
C. Rs. 210
D. Rs. 220

Answer: B) 204

19) If the average of 6 numbers is 20, what is their sum?
A) 120
B) 140
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C) 160
D) 180
Answer: C) 160

20) What is the least number which when divided by 5, 6, and 8 leaves a remainder of 3 in each case?
A) 153
B) 163
C) 173
D) 183
Answer: A) 153

21) In a class of 40 students, 25% are girls. How many boys are there in the class?
A) 25
B) 30
C) 35
D) 40
Answer: C) 35

22) Average age of a group of 30 boys is 16 years. A boy of age 19 leaves the group and a new boy joins the
group. If the new average age of the group is 15.8 years, find the age of the new boy.

12 years

14 years

13 years

15 years

Answer: C) 13 years

23) The average weight of 10 men is decreased by 2 kg when one of them whose weight is 60 kg is replaced by
a new man. What is the weight of the new man?

35 Kkg

50 kg

45 kg

40 kg

Answer: D) 40 kg

24) What is the sum of the first 50 natural numbers?
A) 1250
B) 1275
C) 1300
D) 1325
Answer: B) 1275

25) A man buys a watch for 180 and sells it for 200. What is his profit percentage?
A) 10%
B) 11.11%
C) 12.5%
D) 13.33%
Answer: B) 11.11%
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Section 3 — Logical Reasoning (25 questions)

Directions (Q.1 — Q.2): Answer the following questions based on the given information:
Eight Girls M, N, O, P, Q, R, Sand T are sitting in a line facing north and likes different colours such as Red,
Pink, Yellow, White, Blue, Violet, Brown and Black but not necessarily in the same order. The one who likes
yellow sits fourth to the right of M. Neither M nor yellow sits at extreme ends. N sits third to the left of R. The
number of girls sits between T and the one who likes violet is same as S and the one who likes blue. T sits to
the immediate left of black. The number of girls sits between the one who likes red and white is same as the one
who likes white and pink. P does not sit adjacent to T. R likes violet colour and O likes brown colour. One
person sits between S and the one who likes yellow. S does not like red colour and does not sit at any of the
extreme end.
1. How many girls sit between M and N?

1. One

2. Two

3. Three

4. Four

Ans. Option (1) is correct.

2. T likes which of the following colour?
1. White
2. Yellow
3. Pink
4. Brown
Ans. Option (1) is correct.

3. B is the father of Q. B has only two children. Q is the brother of R. R is the daughter of P. A is the
granddaughter of P. S is the father of A. How is S related to Q?
1. Son
2. Son-in-law
3. Brother
4. Brother-in-law
Ans. Option (1) is correct.

4. Nurse Kemp has worked more night shifts in a row than Nurse Rogers, who has worked five. Nurse Miller
has worked fifteen night shifts in a row, more than Nurses Kemp and Rogers combined. Nurse Calvin has
worked eight night shifts in a row, less than Nurse Kemp. How many night shifts in a row has Nurse
Kemp worked?

1. 8

2. 9

3. 10

4. 11

Ans. Option (2) is correct

5. P, Q, Rand T answered an Examination. In the results, Q was immediately followed by P but no one was
there after P. R was ahead of Q but could not score as much as T. Who scored the second highest?
1. P

— 0O

>Prwn

ns. Option (2) is correct
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6. In this question, one term in number series is incorrect. Find out the incorrect number. 56, 72, 90, 110,
132, 139
1. 72
2. 110
3. 132
4. 139
Ans. Option (4) is correct

7. Inaprocession, 7 boys are standing in a row. Kavikant is standing left to Anurag but right to Bipin. Jayant
Is standing right to Gourav and left to Bipin. Similarly, Komal is standing right to Anurag and left to
Ramu. Find out who is standing in the middle.

1. Anurag

2. Komal

3. Kavikant

4. Gourav

Ans. Option (1) is correct

8. A total of 78 celebrities were standing in a row. Karan Johar was standing at the 25th position from the
left. Salman Khan was standing at 20th position from the right. How many celebrities were standing
between Karan Johar and Salman Khan?

1. 31
2. 32
3. 33
4. 34
Ans. Option (4) is correct

9. Find the missing number in the given series 12, 38, 116, 350, 1052, ?.
1. 2200
2. 1800
3. 3158
4. 2800
Ans. Option (3) is correct

10. If A+B means A is the brother of B; A-B means A is the sister of B; AxB means A is the father of B.
Which of the following means that ‘C is the son of M’?
1. M—NxC+F
2. F-C+NxM
3. N+M-FxC
4, MxN-C+F
Ans. Option (4) is correct

11. Following analogy shows the relationship between two words. Select the pair which has the same
relationship. "Theft: Confess "
1. Fight: Dare
2. Fault: Admit
3. Murder: Commit
4. Mistake: Agree
Ans. Option (3) is correct

12. Four friends Jaspreet, Rohit, Rihanna and Blessy like different sports. All of them are the active members
of their clubs. One person can become a member of one club only. There are three clubs- Dance, Theatre
and Eco club in the school. Jaspreet who likes swimming is not a member of dance club. Rihanna is a
member of dance club but does not like tennis. Rohit likes badminton but is not a member of theatre or
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dance club. Blessy is a member of Eco club and does not like swimming and badminton. Who likes
badminton and is a member if Eco club?

1. Jaspreet

2. Rohit

3. Rihanna

4. Blessy

Ans. Option (2) is correct

13. Complete the series: CEFH, IKLN, , UWXZ
1. OPQR
2. PRSU
3. PQST
4. OQRT
Ans. Option (1) is correct

14. Pointing towards a person in a photograph Rani said, “He is the only son of the father of my sister’s
brother”. How the person in the photograph related to Rani?
1. Father
2. Sister
3. Cousin
4. Brother
Ans. Option (4) is correct

15. Consider an alphabetic series shown below as: A, C, F, J The nest two terms of the series are?
1. LandP
2. Oand U
3. MandR
4. Sand U
Ans. Option (3) is correct

16. Find the wrong term in the series given below: 1, 9, 33, 105, 158,......
(a) 158 (b) 105 (c) 33 (d) 9
Ans. Option (1) is correct

17. A man walks 3 kms towards east from his house. He then turns south and walks 4km. Again he turns west
and walks 6km. How far is he from the starting point i.e. his house?
1. 7km
2. 4km
3. 5km
4. 3km
Ans. Option (4) is correct

18. Based on the relationship between first two words on the left side of : : as given below, choose the correct
word in place of ? to express similar relationship Botany : Plants : : Entomology : ?
1. Animals
2. Germs
3. Birds
4. Insects
Ans. Option (4) is correct

(Q.22 — Q.23): Answer the questions based on following information. In a trade fair 7 cars of different
companies - Cadillac, Ambassador, Fiat, Maruti, Mercedes, Bedford and Fargo are standing facing to east in the
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following order: Cadillac is next to right of Fargo. Fargo is fourth to the right of Fiat. Maruti car is between
Ambassador and Bedford. Fiat which is third to the left of Ambassador, is at one end.

19. Which of the cars are on both the sides of Cadillac car?
1. Ambassador and Maruti
2. Maruti and Fiat
3. Fargo and Mercedes
4. Ambassador and Fargo
Ans. Option (3) is correct

20. Which of the following statement is correct?
1. Maruti is next left of Ambassador.
2. Bedford is next left of Fiat.
3. Bedford is at one end.
4. Fiat is next second to the right of Maruti
Ans. Option (3) is correct

21.Statements:
Some Google is Twitter.
No Twitter is Facebook.
All Facebook are WhatsApp.
Conclusions:
() Some WhatsApp are Google is a possibility.
(11) Some Twitter can never be Facebook.
1. Only conclusion I follows.
2. Only conclusion 11 follows.
3. Either conclusion I or conclusion Il follows.
4. Both conclusions I and 11 follow.
Ans. Option (4) is correct

22. In a group of friends A, B, C, D, and E, A is taller than B, but shorter than C. D is taller than E but shorter
than A. Who is the tallest among them?
1. C
2. D
3. E
4. Cannot be determined
Ans. Option (1) is correct

23. If 6 apples and 8 bananas cost $10, and 4 apples and 5 bananas cost $6, how much does 1 apple cost?
1. $1
2. $1.50
3. %2
4. $2.50
Ans. Option (1) is correct

24. Arrange the following words in alphabetical order:
Apple, Banana, Cherry, Grape, Orange
1. Apple, Banana, Cherry, Grape, Orange
2. Banana, Apple, Cherry, Grape, Orange
3. Apple, Banana, Grape, Cherry, Orange
4. Apple, Banana, Cherry, Orange, Grape
Ans. Option (1) is correct
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25. In a family, the father's age is three times the son's age. Five years ago, the father's age was four times the
son's age. How old is the father now?
1. 25years
2. 30 years
3. 35years
4. 40 years
Ans. Option (2) is correct
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Section 4 — General Knowledge & Current Affairs (10 questions)

1.

Who among the following was the first president of Constituent Assembly of India?
A) Dr. Sachchidananda Sinha

B) Dr. Rajendra Prasad

C) Professor Harendra Coomar Mookerjee

D) Dr. B R Ambedkar

Answer: A) Dr. Sachchidananda Sinha

Recently, who has been appointed as the new CEO of the World Gold Council for India?
A) Sachin Jain

B) Arti Saxena

C) Dharmesh Sodah

D) Sheela Kulkarni

Answer: A) Sachin Jain

Who has the power to enforce prohibition or to regulate or restrict the sale and consumption of any
intoxicant in tribal areas?

A) Gram Sabha

B) State Legislature

C) National Commission for Scheduled Tribes

D) None of the above

Answer: A) Gram Sabha

When was Prada founded?
A) 1954

B) 1913

C) 1980

D) 1999

Answer: B) 1913

India’s first indigenously developed hydrogen fuel cell ferry was deployed for service at which place of
Uttar Pradesh?

A) Lucknow

B) Kanpur

C) Varanasi

D) Ayodhya

Answer: C) Varanasi

Sun Eclipse occurs at which of the following phases of Moon?
A) Full moon

B) Half moon

C) New moon

D) Either Full moon or half moon

Answer: C) New moon

Capri city, recently seen in news, is located in which country?
A) Iraq
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B) France

C) ltaly

D) Russia
Answer: C) Italy

8. Which Indian has been honoured by the ‘Chevalier de la Legion d’honneur’ award?
A) N Chandrasekaran
B) Ratan Tata
C) Lakshmi Mittal
D) Indra Nooyi
Answer: A) N Chandrasekaran

9. Ryder cup is related to which sports?
A) Polo
B) Golf
C) Badminton
D) Tennis
Answer: B) Golf

10. Who among the following were the first to establish “Printing Press” in India?

A) British

B) Portuguese

C) Dutch

D) French

Answer: B) Portuguese
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